ERY— ILINAERFFRZIFR

O #EMAm-Ad—X

4F8H IRE
O A m-Ba—X

= EH FEFZ & B 35 FEFZ
PR A R EME /A 1| 6:50 PR T % AR 5 6:55
REEBER 1| 6:52 BAEEH] 2| 7:04
SEIER (JR6:50%8) | 14| 705 | [PRBALNE 1| 7:05
P ETYN =) 2| 7:09 AERE AR JL R 7| 7:10
ERFNER1THI 13| 7:16 F—T A 6| 7:14
BT ]| 1 7:18 Bk BoszE 2 715
BEEIERPAOFME| 2| 7:21 HFEHIE 1| 7:18
BAadL/ 1| 7:30 SRAEEH 1| 7:26
35 BAEMERAI 3| 7:28
BHEEIT VLT VEI 2| 7:30
E RHE 1| 7:32
31
O rHAFm(TVAH)
= B 5 Fhr FE
BREGhs0E | — 7:40
IR 1| 7:42
IR 1| 7:44
2

X A—ZARUVEEFICDOWTIE. HKETLERTY,
ERRRICECTREINENDZEELHYFET .




